Fill in the blanks by choosing the correct options from the drop box in
each blanks.

1. Pollination is the of from
the to the :

2. The anther produce which contain the

3. The ovary contains the which contain the

4. The insects go to insect-pollinated flower because it has

5. The insects land on the flower on a structure called the

6. The stamens and the stigmas of the wind-pollinated flower can be
found of the flower.
7. The pollen grain of the wind-pollinated flower is

8. Germination is when develop into

9. The seed consist of three structures which are:

10. Embryo is a structure that will develop into

il The first structure to emerge from the seed is

12. Before the young plant has leaves, it gets its food from
: i 8 This ONE condition is not needed for germination
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